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NS = 12000
T —=Z 12000
LTS —= 12000
SRR —= 12000
KRS —% 12000
{HRK —% 12000
o —= 12000
EIEL) —% 12000
ESv —% 12000
BRES —= 12000
HRYE(E —% 12000
EkiE —% 12000
PHETE —% 12000
IEE —= 12000
S —= 12000
(EH —% 18000
BB —% 18000
BE —5 18000
BERIRIR —_5 8000
EER —_Z 8000
=T 3 8000
ERE —_% 8000
BRER 3 8000
i7BHER = 8000
X748 —= 8000
BRIEIE % 8000
FHE = 8000
NEE 3 8000
B —= 8000
BirREE 3 8000
BriE 3 8000
ERE —_Z 8000
ERIEIR —_Z 8000
e —= 8000
{ATERER —_Z 8000
2= —_Z 8000
ROt 3 8000
BKIESR % 8000
AL —_Z 8000
TR —= 8000
SEEE —= 12000
S 3 12000
XUpnsE —_Z 12000
FES 3 12000
Xz= —_Z 12000
FiadE =% 5000
SRS =% 5000
FE& =% 5000
EORE =% 5000
BB =% 5000
7T =% 5000
XIEE =% 5000
Rl =% 5000
B2t =% 5000
] =% 5000
1BiGER =% 5000
BN =% 5000




R =% 5000
AR =% 5000
S == 5000
HE == 5000
SRS =% 5000
BEHN, =% 5000
) =% 5000
XEB =% 5000
BEE =% 5000
SHRS =% 5000
EST == 5000
BE =% 5000
FF =% 5000
[ aaa =% 5000
BRI == 5000
N =% 5000
ak/DEE =% 5000
EiHiE =% 5000
YFIRIR =% 6000
% =% 6000
R == 6000
T ReEp =% 6000
JENEAD =% 6000
Stk =% 6000
WEE =% 6000
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